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Seat

No. [4304]-101

M.A. (Part I) (First Semester) EXAMINATION, 2013

ECONOMICS

EC-101 : Micro-Economic Analysis–I

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

(iv) Draw neat diagrams wherever necessary.

1. Answer any one of the following questions in 500 words : [20]

(i) Explain the concepts of Deductive and Inductive Methods of

economic analysis. Discuss their merits and demerits.

(ii) What is Indifference Curve ? Explain the income, substitution

and price effects with the help of Indifference Curve.

2. Answer any one of the following questions in 500 words : [20]

(i) Define Iso-quants. What are the properties of Iso-quants ?

Explain the producer’s equilibrium with the help of Iso-quants.

P.T.O.
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(ii) What is Consumer’s Surplus ? How is consumer’s surplus measured

with the help of indifference curve ? Evaluate the concept

of consumer’s surplus.

3. Answer any two of the following questions in 250 words each : [20]

(i) Derive long-run average cost curve from short-run average cost

curve of a firm. Why is it ‘U’ shaped ?

(ii) Give the meaning of average, marginal and total revenue. Illustrate

these concepts with the help of suitable diagrams and numerical

examples.

(iii) Explain the Hicksian revised theory of demand.

(iv) State and explain the Law of Diminshing Marginal Utility.

4. Write any four of the following short notes in 100 words each : [20]

(i) Importance and limitations of micro-economics

(ii) External economies and diseconomies

(iii) Linear homogenous production function

(iv) Basic economic problems

(v) Income elasticity of demand

(vi) Fixed and variable cost.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr-

(iv) vkoð;d rsFks lqcd vkœR;k dk<k-

(v) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh ,dk izðukps 500 ðkCnkr mŸkj f«gk % [20]

(i) vkfFkZd foð«s"k.kkP;k fuxeu vkf.k vkxeu iºrh gÓk ladYiuk Li"V djk-

R;kaP;k xq.knks"kkaph ppkZ djk-

(ii) leo`Ÿkh oÿ Eg.kts dk; \ leo`Ÿkh oÿkP;k enrhus mRiUu] i;kZ;rk vkf.k

fdaer ifj.kke Li"V djk-

2. [kk«h«iSdh dks.kR;kgh ,dk izðukps 500 ðkCnkr mŸkj f«gk % [20]

(i) le&mRiknu oÿkph O;k[;k |k- le&mRiknu oÿkps xq.k/keZ dks.krs \ le&mRiknu

oÿkP;k enrhus mRikndkpk lerks« Li"V djk-

(ii) miHkksDR;kps larks"kkf/kD; Eg.kts dk; \ leo`Ÿkh oÿkP;k enrhus miHkksDR;kP;k

larks"kkf/kD;kps ekiu dls djrkr \ miHkksDR;kps larks"kkf/kD; ;k ladYiusps

ewY;ekiu djk-
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3. [kk«h«iSdh dks.kR;kgh nksu izðukaph izR;sdh 250 ðkCnkr mŸkjs f«gk % [20]

(i) m|ksxlaLFksP;k vYidk«hu ljkljh [kpZ oÿkaiklwu nh?kZdk«hu ljkljh [kpZ oÿ

r;kj djk- R;kpk vkdkj baxzth ‘U’ v{kjklkj[kk dk vlrks \

(ii) ,dw.k izkIrh] ljkljh izkIrh vkf.k lhekUr izkIrh ;kapk vFkZ |k- ;ksX; vkœR;k

vkf.k xf.krh; mnkgj.kk}kjs gÓk ladYiuk foðkn djk-

(iii) fgDlpk lq/kkfjr ekx.kh flºkUr Li"V djk-

(iv) ?kVR;k lhekUr mi;ksfxrspk fu;e lkaxk vkf.k lfoLrj Li"V djk-

4. [kk«h«iSdh dks.kR;kgh pkj Vhik izR;sdh 100 ðkCnkr f«gk  % [20]

(i) lw{e&vFkZðkkL=kps egRo vkf.k e;kZnk

(ii) ck· ferO;;rk vkf.k vferO;;rk

(iii) js[kh; ,dftulh mRiknu Q«u

(iv) eq«Hkwr vkfFkZd izðu

(v) ekx.khph mRiUu «ofpdrk

(vi) fLFkj vkf.k cn«rk [kpZ-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4304]-102

M.A. (Part I) (First Semester) EXAMINATION, 2013

ECONOMICS

EC-102 : Public Finance

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]

(i) State fiscal functions of the Government and explain co-ordination

among these functions.

(ii) Explain in detail ‘Ability to pay principal’ of taxation.

2. Answer any one of the following questions in 500 words : [20]

(i) Explain fully Wiseman-Peacock Hypothesis of the growth of

public expenditure.

P.T.O.
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(ii) Discuss the shifting of tax incidence under different market

conditions.

3. Answer the following questions in detail with 250 words each

(any two) : [20]

(i) Explain the ‘principle of equity in taxation’.

(ii) Briefly explain the concept of social cost-benefit

analysis.

(iii) Explain fully ‘Wagner’s law of public expenditure’.

(iv) State and explain the methods of repayment of public

debt.

4. Write short notes on (any four) : [20]

(i) Types of tax incidence

(ii) Keynesian approach to public debt

(iii) Burden of public debt

(iv) Public goods and merit goods

(v) Types of  ‘Taxable Capacity’

(vi) Pure theory of public expenditure.



[4304]-102 3 P.T.O.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr-

(iv) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.krkgh ,d izðukps mŸkj 500 ðkCnkr f«gk % [20]

(i) ljdkjph jktdksf"k; dk;Z lkaxk vkf.k R;kaP;krh« leUo; Li"V djk-

(ii) ^djkjksi.kkps djns; {kerk rRo* foLr`ri.ks Li"V djk-

2. [kk«h«iSdh dks.krkgh ,d izðukps mŸkj 500 ðkCnkr f«gk % [20]

(i) okbZteu&fidkWd ;kaP;k lkoZtfud [kpZ o`ºhP;k x`ghr dYiuk lfoLrji.ks Li"V

djk-

(ii) fofo/k cktkj fLFkrhrh« djHkkjkP;k laÿe.kkph ppkZ djk-

3. [kk«h« izðukaph mŸkjs izR;sdh 250 ðkCnkr f«gk (dks.krsgh nksu) % [20]

(i) ^djvkdkj.khps lerk rRo* Li"V djk-

(ii) lkekftd [kpZ&«kHk foð«s"k.k gh ladYiuk FkksMD;kr Li"V djk-

(iii) lkoZtfud [kpkZpk oWxuj ;kapk flºkar Li"V djk-

(iv) lkoZtfud dtZijrQsMhP;k iºrh lkaxk o Li"V djk-
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4. FkksMD;kr Vhik f«gk (dks.kR;kgh pkj) % [20]

(i) djHkkjkps izdkj

(ii) lkoZtfud dtkZlaca/khpk dsUlpk n`"Vhdks.k

(iii) lkoZtfud dtkZpk Hkkj

(iv) lkoZtfud oLrw o xq.kk/kkjhr oLrw

(v) djns; ik=rsps izdkj

(vi) lkoZtfud [kpkZpk ðkqº flºkar-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4304]-103

M.A. (Part I) (First Semester) EXAMINATION, 2013

ECONOMICS

EC-103 : Agricultural Economics

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answer should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]

(i) Describe the role of agriculture in Indian economy.

(ii) What is Biotechnology ? Explain the progress of Biotechnology

in Indian Agriculture.

2. Answer any one of the following questions in 500 words : [20]

(i) Describe the various theories of Agricultural Development.

(ii) Explain the role of commercial banks in Agricultural Credit

since 1991.

P.T.O.
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3. Answer the following questions in 250 words each (any two) : [20]

(i) Explain the role of ‘NABARD’ in Agricultural Credit.

(ii) What is Self-help Groups ? State the positive impact of self-

help groups on the people below poverty line.

(iii) What are the causes of low productivity of livestock in

India.

(iv) Explain the problems of Agricultural Management in

India.

4. Write short notes on any four : [20]

(i) Hybrid Seeds—merits and demerits

(ii) ‘Farming as a way of life’

(iii) Problems of food security

(iv) Recommendation of Radhakrishnan Committee regarding

agricultural credit

(v) Problems of agricultural marketing

(vi) Importance of organic farming.



[4304]-103 3 P.T.O.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh o eqÌslqn vlkohr-

(iv) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.krkgh ,d izðukps mŸkj 500 ðkCnkr f«gk % [20]

(i) Hkkjrh; vFkZO;oLFksrh« ðksrhph Hkwfedk foðkn djk-

(ii) ^tSfod ra=Kku* Eg.kts dk; \ Hkkjrh; ðksrhrh« tSfod ra=Kkukrh« izxrh

Li"V djk-

2. [kk«h«iSdh dks.krkgh ,d izðukps mŸkj 500 ðkCnkr f«gk % [20]

(i) ðksrh fodklkps fofo/k flºkar foðkn djk-

(ii) lu 1991 iklwu O;kikjh c°dkaph ðksrhfoŸkfo"k;d Hkwfedk Li"V djk-

3. [kk«h« izðukaph mŸkjs izR;sdh 250 ðkCnkr f«gk (dks.krsgh nksu) % [20]

(i) ukckMZph œ"kh iriqjoBÓkrh« Hkwfedk foðkn djk-

(ii) Lo;algk∏;rk xV Eg.kts dk; \ Lo;algk∏;rk xVkps nkfjÊÓjs"ks[kk«h« «ksdkaoj

>k«s«k ldkjkRed ifj.kke Li"V djk-

(iii) Hkkjrkrh« iðkw/ku mRikndrk deh vl.;kph dkj.ks dks.krh \

(iv) Hkkjrkrh« ðksrh O;oLFkkiukP;k leL;k Li"V djk-
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4. FkksMD;kr Vhik f«gk (dks.kR;kgh pkj) % [20]

(i) ladjhr fc&fc;k.ksµxq.k&nks"k

(ii) ^ðksrh* ,d ftou iºrh

(iii) vUulqj{kkfo"k;d leL;k

(iv) œ"kh irfo"k;d jk/kkœ".ku lferhP;k flQkjðkh

(v) œf"k foi.kukrh« leL;k

(vi) lsaÊh; ðksrhps egRo-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4304]-104

M.A. (Part I) (First Semester) EXAMINATION, 2013

ECONOMICS

EC-104 : Indian Economic Policy

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]

(i) What is Poverty ? Has poverty declined in India since 1991

economic reforms ? Comment.

(ii) Evaluate the financial sector reforms in India.

2. Answer any one of the following questions in 500 words : [20]

(i) State the importance of agriculture marketing in stabilizing

prices of agricultural produce and examine the recent development

in agricultural marketing.

(ii) Evaluate the monetary policy of R.B.I. since 1991.

P.T.O.
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3. Answer the following questions in 250 words each (any two) : [20]

(i) Explain the trends of National Income since 1991.

(ii) Discuss the Health Policy of Indian Government.

(iii) Explain the relative merits and demerits of rail and road

transport.

(iv) Explain the role of small scale industries in Indian

economy.

4. Write short notes on (any four) : [20]

(i) Importance of Economic Policy

(ii) Capital Market in India

(iii) Problems of Liberlization

(iv) Fiscal Reforms since 1991

(v) Social Infrastructure Development

(vi) Recent issues in Indian Labour Market.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr-

(iv) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-
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1. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkr f«gk % [20]

(i) nkfjÊÓ Eg.kts dk; \ 1991P;k vkfFkZd lq/kkj.kkaiklwu Hkkjrkrh« nkfjÊÓ deh

>k«s vkgs dk; \ Hkk"; djk-

(ii) Hkkjrkrh« foŸkh; {ks=krh« lq/kkj.kkaps eqY;ekiu djk-

2. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkr f«gk % [20]

(i) ðksrh mRiknukP;k fdaer fLFkjhdj.kkrh« ðksrek« foÿh O;oLFksps egRo

lkaxk vkf.k ðksrek« foÿh O;oLFksrh« vf«dMh« fodklkps ifj{k.k

djk-

(ii) Hkkjrh; fj>oZ c°dsP;k 1991 iklwuP;k p«ufo"k;d /kksj.kkps ijh{k.k

djk-

3. [kk«h« izðukaph izR;sdh 250 ðkCnkr mŸkjs f«gk (dks.krsgh nksu) % [20]

(i) 1991 iklwuph jk"V™h; mRiUukph izo`Ÿkh Li"V djk-

(ii) Hkkjr ljdkjps vkjksX;fo"k;d /kksj.kkph ppkZ djk-

(iii) jsYos vkf.k jLrk ogkrqdhps Qk;ns vkf.k rksVs Li"V djk-

(iv) «?kwm|ksxkaph Hkkjrh; vFkZO;oLFksrh« Hkwfedk Li"V djk-



[4304]-104 4

4. FkksMD;kr fVik f«gk (dks.krsgh pkj) % [20]

(i) vkfFkZd /kksj.kkps egRo

(ii) Hkkjrkrh« HkkaMo« cktkj

(iii) mnkfjdj.kkP;k leL;k

(iv) 1991 iklwuP;k jktdks"kh; lq/kkj.kk

(v) lkekftd ik;kHkqr fodkl

(vi) Hkkjrh; Je cktkjkrh« vf«dMh« izokn-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4304]-105

M.A. (Part I) (First Semester) EXAMINATION, 2013

ECONOMICS

EC-105 : Labour Economics

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]

(i) Explain the nature, scope and importance of labour economics.

(ii) “Migration of labour is harmful to industries but inevitable

in India.” Comment.

2. Answer any one of the following questions in 500 words : [20]

(i) Critically examine marginal productivity theory of wage

determination. Is it really applicable in labour market ?

(ii) Explain the structure and achievements of labour unions in

India.

P.T.O.
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3. Answer any two of the following questions in 250 words each : [20]

(i) Explain the causes of Absenteeism of Indian Industrial

Labour.

(ii) Explain the causes of flexibility in Labour Market in

India.

(iii) Explain the concepts of ‘Minimum Wage and Fair

Wage’.

(iv) Explain the need of safety nets.

4. Write short notes on any four : [20]

(i) Peculiarities of labour

(ii) Exit policy

(iii) Labour turnover

(iv) Recommendations of Second National Commission on

Labour

(v) Concept of industrial disputes

(vi) Wage determination in unorganised sector.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh o eqÌslqn vlkohr-

(iv) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.krkgh ,d izðukpk 500 ðkCnkar mŸkj f«gk % [20]

(i) Je vFkZðkkL=kps Lo:i] O;kIrh vkf.k egRo Li"V djk-

(ii) ^^Jekph LFk«karj òŸkh m|ksxkuk ?kkrd vl«h rjh rh Hkkjrkr vifjgk;Z vkgs-**

Hkk"; djk-

2. [kk«h«iSdh dks.krkgh ,d izðukpk 500 ðkCnkar mŸkj f«gk % [20]

(i) osru fufðprhP;k flekar mRikndrk flºkarkps VhdkRed ifj{k.k djk- Je

cktkjkisBr rks [kjks[kj «kxw gksrk dk; \

(ii) Hkkjrh; dkexkj la?kVukaph jpuk vkf.k ;ðk Li"V djk-

3. [kk«h«iSdh dks.krsgh nksu izðukaph mŸkjs izR;sdh 250 ðkCnkar f«gk % [20]

(i) Hkkjrkrh« vkS|ksfxd JfedkaP;k vuqifLFkrhph dkj.ks Li"V djk-

(ii) Hkkjrkrh« JecktkjisBsrh« «ofpdrsph dkj.ks Li"V djk-

(iii) ^fdeku osru vkf.k ;ksX; osru* ;k ladYiuk Li"V djk-

(iv) lqjf{kr tǩ s (safety nets) ph xjt Li"V djk-
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4. dks.kR;kgh pkjoj FkksMD;kr Vhik f«gk % [20]

(i) Jekph oSfðk"VÓs

(ii) fuxZeu /kksj.k

(iii) Jekph m«k<kˇ

(iv) nqlÚ;k jk"V™h; Je vk;ksxkP;k fðkQkjðkh

(v) vkS|ksfxd d«gkph ladYiuk

(vi) vla?kfVr {ks=krh« osru fufðprh-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4304]-106

M.A. (Part I) (First Semester) EXAMINATION, 2013

ECONOMICS

(EC-106 : Co-operation : Theory and Practice)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

1. Answer the following in 500 words (any one) : [20]

(i) What is Co-operation ? Explain in detail the basic principles

of Co-operation.

(ii) What is Co-operative Training ? Explain the structure of

co-operative training in India.

2. Answer the following in 500 words (any one) : [20]

(i) Explain the Co-operative audit system in India. What are its

weaknesses ?

(ii) Evaluate the role of NABARD in rural credit in India.
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3. Answer the following in 250 words each (any two) : [20]

(i) Explain the problems of sugar factories in Maharashtra.

(ii) Take a review of Co-operative Movement in Japan.

(iii) Describe the nature of Co-operation.

(iv) Explain the functions of Co-operative Auditor.

4. Write short notes in 100 words each (any four) : [20]

(i) Impact of Co-operative Act, 1912 on Co-operative Movement

in India.

(ii) Progress of Co-operative Movement of Germany.

(iii) Broad features of Maharashtra State Co-operative Societies

Act, 1960.

(iv) Weaknesses of Co-operative Audit System in India.

(v) Recommendations of Vaidhyanathan Committee.

(vi) International Co-operative Alliance.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr-

(iv) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkr f«gk : [20]

(i) lgdkj Eg.kts dk; \ lgdkjkph eq«rRos lfoLrj Li"V djk-

(ii) lgdkj izfðk{k.k Eg.kts dk; \ Hkkjrkrh« lgdkj izfðk{k.k jpuk Li"V djk-
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2. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkr f«gk : [20]

(i) Hkkjrkrh« lgdkjh «s[kkifj{k.k O;oLFkk Li"V djk- frP;k m.khok dks.kR;k vkgsr \

(ii) Hkkjrkrh« xzkeh.k iriqjoBÓkrh« ukckMZP;k Hkqfedsps eqY;ekiu djk-

3. [kk«h« izðukaph mŸkjs izR;sdh 250 ðkCnkr f«gk (dks.krsgh nksu) : [20]

(i) egkjk"V™krh« lk[kj dkj[kkU;kP;k leL;k Li"V djk-

(ii) tikue/kh« lgdkjh pˇoˇhpk vk<kok ?;k-

(iii) lgdkjkP;k Lo:ikps o.kZu djk-

(iv) lgdkjh «s[kkifj{k.kkph dk;sZ Li"V djk-

4. izR;sdh 100 'kCnkr FkksMD;kr Vhik f«gk (dks.kR;kgh pkj) : [20]

(i) lgdkj laLFkk dk;nk] 1912pk Hkkjrkrh« lgdkjh pˇoˇhojh« izHkko-

(ii) teZuhrh« lgdkjh pˇoˇhph izxrh-

(iii) egkjk"V™ lgdkjh laLFkk dk;nk] 1960ph Bˇd oSfðk"VÓs-

(iv) Hkkjrkrh« lgdkjh «s[kk ifj{k.k O;oLFksrh« m.khok-

(v) oS|ukFku lferhP;k fðkQkjðkh-

(vi) vkarjjk"V™h; lgdkjh la?kVu-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4304]-107

M.A. (Part I) (First Semester) EXAMINATION, 2013

ECONOMICS

(EC-107 : Mathematical Economics)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

(iv) Use of non-programmable calculator is allowed.

1. Attempt any one out of two of the following : [20]

(i) Solve :

4x + y – 5z = 8

–2x + 3y + z = 12

3x – y + 4z = 5.

(ii) Let A be the advertising rate and R = R(t) the change in

sales rate per unit spent on advertising. If S is a saturation

constant i.e. the upper limit of sales rate whatever the expenditure

on advertising then we can write :

= − λRA S
ds

dt
,

where λ is the decay constant. Find the predicted sales rate.
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2. Attempt any one out of two of the following : [20]

(i) Let x be the number of units produced of some commodity

and let C(x) and R(x) be the total costs and total

revenue to produce x items. Suppose that for x ≥ 0,

C(x) = 
3

3

x
 – 4x2 + 10x and R(x) = 10x – 2x2. Hence the

profit P is given by P(x) = R(x) – C(x) :

(1) Determine P as a function of x.

(2) Find the demand at which P is maximum.

(3) What is the maximum profit ?

(ii) An industry is made up of 100 firms all with cost schedule

given as — TC = 40 + 0.4q3. They sell in market where the

demand schedule is P = 70 – 0.08Q, where Q is industry output

and q is individual firm’s output :

(1) What will be the short-run price, industry output and

profit for each firm ?

(2) What will happen to price, industry output and the

number of firms in the long-run ? (Assume new entrants

have the same structure.)
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3. Attempt any two out of four of the following : [20]

(i) If

a c e

b d f
= = ,

then prove that :

(a)
a b c d

a c

+ +
=

(b) .
a b c d

a d

− −
=

(ii) Find the unknown quantities in the following equations :

3 3 3 2 1 2 19

4 2 5 20 2 12

x w w x

y z z

+ − −   
   =
   −   

(iii) Find the slope of the tangent to the following functions at

the indicated points :

(1) y = x4 – 3x3 + 2x2 + 1  [at (0, 1) (2, 1)]

(2) y = (x – 1) (x + 1)9  [at (0, 1) (1, 0)].

(iv) If a firm faces two demand curves with the following

forms :

(1) P1 = 100 – 2Q1

(2) P2 = 80 – Q2

where MC1 = MC2 = 20.

Calculate the values of P1, P2, Q1 and Q2. Show that the

price is lower where elasticity of demand is high.
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4. Attempt any four out of six of the following : [20]

(i) If

1 2

2 1 1 0 0 1 0

A = , B = , C = 3 4 ,  D = .

1 2 0 1 1 1 1

1 2

 
      
      
      
      
  

Find A + B – 2DC.

(ii) Solve :

x – 2y = 4

–3x + 5y = –7.

(iii) Evaluate :

5 7 1

D = 6 8 1 .

3 2 6

− 
 
 − − 
 
 − 

(iv) If A’s salary is 20% less than B’s salary, by how much percent

is B’s salary more than A’s ?

(v) Divide Rs. 672 in the ratio 5 : 3.

(vi) A vendor bought a number of bananas at 6 for 5 rupees,

and sold at 4 for 3 rupees. Find the gain in percent.
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Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4304]-108

M.A. (Part I) (First Semester) EXAMINATION, 2013

ECONOMICS

(EC-108 : Demography)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 500 words (any one) : [20]

(i) Critically evaluate the population policy of India since 2000.

(ii) Explain the theory of demographic transition. In which stage

is India today ? Comment.

2. Answer the following questions in 500 words (any one) : [20]

(i) Discuss the relationship between population and economic

development. What has been the Indian experience ?

Comment.

(ii) Analyse the family planning programme since 1991 and state

its consequences in India.
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3. Answer the following questions in 250 words each (any two) : [20]

(i) Explain the determinants of Human Development Index.

(ii) Describe the nature and scope of demography.

(iii) Elaborate the causes of high infant mortality in less developed

countries.

(iv) Briefly explain the measures of crude birth rate and total

fertility rate.

4. Write short notes on (any four) : [20]

(i) Optimum population

(ii) Age structure of population in developed countries

(iii) Nature of change in sex ratio in India

(iv) Women empowerment

(v) Population explosion

(vi) Crude death rate.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph mŸkjs 500 ðkCnkr f«gk (dks.krkgh ,d) : [20]

(i) HkkjrkP;k lu 2000 uarjP;k «ksdla[;k /kksj.kkps VhdkRed ifj{k.k djk-

(ii) «ksdla[;k laÿeukpk flºkar Li"V djk- Hkkjr vkt dks.kR;k voLFksr

vkgs \ Hkk"; djk-
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2. [kk«h« izðukaph mŸkjs 500 ðkCnkr f«gk (dks.krkgh ,d) : [20]

(i) «ksdla[;k vkf.k vkfFkZd fodkl ;krh« ijLijlaca/kkoj lfoLrj ppkZ djk-

;kckcr Hkkjrh; vuqHko dk; vkgs \ Li"Vhdj.k |k-

(ii) 1991 uarjP;k dkˇkrh« HkkjrkP;k dqVqac fu;kstu dk;Zÿekps foð«s"k.k djk-

R;kps ifj.kke lkaxk-

3. [kk«h« izðukaph mŸkjs izR;sdh 250 ðkCnkr f«gk (dks.krsgh nksu) : [20]

(i) ekuoh fodkl funsZðkkadkoj ifj.kke dj.kkjs ?kVd Li"V djk-

(ii) «ksdla[;kðkkL=kps Lo:i o O;kIrh ;kaps o.kZu djk-

(iii) vYifodlhr nsðkkr ck«e`R;wps izek.k vf/kd vl.;kph dkj.ks Li"V djk-

(iv) ,dw.k tuunj o <kscˇ tUenj ekidkps FkksMD;kr Li"Vhdj.k |k-

4. FkksMD;kr Vhik f«gk (dks.kR;kgh pkj) : [20]

(i) i;kZIr «ksdla[;k

(ii) fodflr nsðkkrh« «ksdla[;sph o;ksjpuk

(iii) Hkkjrkrh« L=h&iq#"k xq.kksŸkjkps cn«kps Lo:i

(iv) L=h&lc«hdj.k

(v) «ksdla[;k foLQksV

(vi) <kscˇ e`R;w nj-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4304]-201

M.A. (Part I) (Second Semester) EXAMINATION, 2013

ECONOMICS

EC-201 : Micro-Economic Analysis–II

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

(iv) Draw the diagrams wherever necessary.

1. Answer any one of the following questions in 500 words : [20]

(i) Critically examine the theory of monopolistic competition.

(ii) Write the assumptions of perfect competition. If the

perfect competition is rare in the real world, why do we

study it ?

P.T.O.
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2. Answer any one of the following questions in 500 words : [20]

(i) Explain price and output determination under monopoly.

(ii) Discuss the Baumol’s model of sales revenue maximization.

3. Answer the following questions in 250 words each (any two) : [20]

(i) Explain the risk and uncertainty theory of profit.

(ii) Elucidate the modern theory of interest.

(iii) Discuss the Mariss’s managerial model.

(iv) Explain the Pigou’s theory of welfare economics.

4. Write short notes on (any four) : [20]

(i) Schumpeter’s profit theory of innovation

(ii) Wage determination under collective bargaining

(iii) Euler’s theorem

(iv) Kinked demand curve

(v) Cournot’s duopoly model

(vi) Arrow’s impossibility theorem.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh vkf.k eqÌslwn vlkohr-

(iv) vkoð;d rsFks vkœR;k dk<kO;kr-

1. [kk«h«iSdh dks.krkgh ,d izðu 500 ðkCnkar lksMok % [20]

(i) eDrsnkjh;qDr Li/ksZps VhdkRed ijh{k.k djk-

(ii) iw.kZ Li/ksZph x`ghrds f«gk- iw.kZ Li/kkZ tj izR;{k txkr nqfeZˇ vls« rj

vki.k rs dk vH;klrks \

2. [kk«h«iSdh dks.krkgh ,d izðu 500 ðkCnkar lksMok % [20]

(i) eDrsnkjhrh« fdaer vkf.k mRiknu fufðprh Li"V djk-

(ii) ck≈eks«P;k foÿh izkIrh egŸkehdj.kkP;k izfrekukph ppkZ djk-

3. [kk«h« izðukaph mŸkjs izR;sdh 250 ðkCnkar f«gk (dks.krsgh nksu) % [20]

(i) u∂;kpk /kksdk vkf.k vfufðprrspk flºkar Li"V djk-

(ii) O;ktkpk vk/kqfud flºkar Li"V djk-

(iii) eWfjlP;k O;oLFkkiu izfrekukph ppkZ djk-

(iv) fixwpk vkfFkZd dY;k.kkpk flºkar Li"V djk-
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4. FkksMD;kr Vhik f«gk (dks.kR;kgh pkj) % [20]

(i) ðkwEihVjpk uQkfo"k;d uoksiÿe flºkar

(ii) lkeqnkf;d lkSnkðkDrhrh« osru&fufðprh

(iii) ;w«jps izes;

(iv) ckdnkj ekx.kh oÿ

(v) dwuksZps };kf/kdkj izfreku

(vi) vWjksps vðkD;rk izes;-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4304]-202

M.A. (Part I) (Second Semester) EXAMINATION, 2013

ECONOMICS

EC-202 : Indian Public Finance

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

1. Answer the following in 500 words (any one) : [20]

(i) Evaluate the Indirect tax reforms in India.

(ii) What is Fiscal Policy ? Review in detail Indian Fiscal Policy

since, 1991.

2. Answer the following in 500 words (any one) : [20]

(i) What is deficit financing ? Explain the optimal level of deficit

financing.

(ii) Explain the preparation and execution process of Union Budget

in India.

P.T.O.
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3. Answer in 250 words each (any two) : [20]

(i) Discuss the public debt policy in Indian economy.

(ii) State the principles of Federal Finance.

(iii) Explain importance of automatic stabilizers in fiscal policy.

(iv) Explain the concept of balanced budget multiplier.

4. Answer in 100 words each (any four) : [20]

(i) Horizontal imbalance in sources of revenue of State and Central

Government.

(ii) Burden of public debt in India.

(iii) Classification of Budget.

(iv) Recommendations of XII Finance Commission.

(v) Fiscal deficit Vs. budget deficit.

(vi) Trends of the union revenue since 1991.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr-

(iv) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-
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1. [kk«h« izðukaph mŸkjs 500 ðkCnkar f«gk (dks.krkgh ,d) % [20]

(i) Hkkjrkrh« vizR;{k djkae/kh« lq/kkj.kkaps eqY;ekiu djk-

(ii) jktdks"kh; /kksj.k Eg.kts dk; \ 1991 iklwu Hkkjrh; jktdks"kh; /kksj.kkpk

lfoLrj vk<kok ?;k-

2. [kk«h« izðukaph 500 ðkCnkar mŸkjs f«gk (dks.krkgh ,d) % [20]

(i) rqVhpk vFkZHkj.kk Eg.kts dk; \ rqVhP;k vFkZHkj.;kph i;kZIr ikrˇh Li"V

djk-

(ii) Hkkjrkrh« dsafÊ; vFkZladYi r;kj dj.;kph o vae«ctko.kh izÿh;k Li"V

djk-

3. [kk«h« izðukaph izR;sdh 250 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [20]

(i) Hkkjrh; vFkZO;oLFksrh« lkoZtfud dtZ /kksj.kkph ppkZ djk-

(ii) laf?k; foŸkkph rRos lkaxk-

(iii) jktdks"kh; /kksj.kkrh« Lo;ap«hr fLFkjdkaps egRo Li"V djk-

(iv) larq«hr vFkZladYi xq.kdkph ladYiuk Li"V djk-
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4. [kk«h« izðukaps izR;sdh 100 ðkCnkar mŸkjs f«gk (dks.krsgh pkj) % [20]

(i) dsaÊ o jkT; ljdkje/kh« eglq« lk/kukaps leLrjh; vlarq«u-

(ii) Hkkjrkrh« lkoZtfud dtkZpk ckstk-

(iii) vFkZladYikaps ofxZdj.k-

(iv) 12O;k foŸk vk;ksxkP;k fðkQkjðkh-

(v) jktdks"kh; rqV fo:º vFkZladYih; rqV-

(vi) 1991 iklwu dsaÊ ljdkjP;k eglq«krh« izo`Ÿkh-



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4304]-203

M.A. (Part I) (Second Semester) EXAMINATION, 2013

ECONOMICS

EC-203 : Indian Agricultural Problems and Policies

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt all questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]

(i) Explain the past and present policy of ceiling on land holdings

in India. What is its impact on Agriculture ?

(ii) Critically examine the impact of W.T.O. on Indian Agriculture.

2. Answer any one of the following questions in 500 words : [20]

(i) Discuss the problems of Agricultural Labour in India. Suggest

the measures to improve their economic condition.

(ii) Discuss the recent major agricultural problems in India.

3. Answer the following questions in 250 words each (any two) : [20]

(i) Explain the significance of ‘SEZ’ in India.

P.T.O.
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(ii) Explain the benefits of Employment Guarantee Scheme.

(iii) State the recent changes in Export Policy of food grains, milk

and milk product.

(iv) Explain the need of strong and effective service sector in

Agricultural development.

4. Write short notes on (any four) : [20]

(i) Mechanisation in Indian Agriculture : benefits and problems

(ii) Causes of rural unemployment

(iii) Issues in Agricultural Subsidies

(iv) Rural credit problems in Maharashtra

(v) Agricultural EXIM Policy 2004-09

(vi) Export policy of spices.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mRrjs usedh o eqÌslwn vlkohr-

(iv) lanHkkZlkBh eqˇ baxzth izðuif=dk igkoh-

1. [k«h«iSdh dks.krkgh ,d izðukph mRrj 500 ðkCnkar f«gk % [20]

(i) Hkkjrkrh« dek« Hkw/kkj.kkfo"k;d iwohZps o orZekups /kksj.k Li"V djk- R;kpk

ðksrhoj dk; ifj.kke >k«k \

(ii) Hkkjrh; ðksrhojh« tkxfrd O;kikj la?kVusP;k ifj.kkekaps fVdkRed ifj{k.k

djk-
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2. [kk«h«iSdh dks.krkgh ,d izðukph mRrj 500 ðkCnkar f«gk % [20]

(i) Hkkjrkrh« ðksretwjfo"k;d leL;kaph ppkZ djk- R;kaph vkfFkZd ifjfLFkrh lq/

kkj.;klkBh mik; lqpok-

(ii) Hkkjrkrh« v«hdMh« dkˇkrh« izew[k ðksrhfo"k;d leL;kaps eqY;ekiu djk-

3. [kk«h« izðukaph mRrjs izR;sdh 250 ðkCnkar f«gk (dks.krsgh nksu) % [20]

(i) Hkkjrkrh« ^foðks"k vkfFkZd {ks=kps* egRo Li"V djk-

(ii) jkstxkj geh ;kstusps «kHk Li"V djk-

(iii) vUu/kkU;] nq/k o nqX/ktU; inkFkZ ;k fo"k;hP;k fu;kZr /kksj.kkrh« v«hdMh«

cn« lkaxk-

(iv) œf"k fodklkrh« cˇdV o ifj.kkedkjd lsok{ks=kph xjt Li"V djk-

4. FkksMD;kr fVik f«gk (dks.krsgh pkj) % [20]

(i) Hkkjrh; ðksrhps ;kaf=dhdj.kµ«kHk o leL;k

(ii) xzkeh.k csdkjhph dkj.ks

(iii) ðksrhfo"k;d vuqnkukpk izðu

(iv) egkjk"V™krh« xzkeh.k iriqjoBkfo"k;d leL;k

(v) lu~ 2004&09 ps œf"kfo"k;d vk;kr&fu;kZr /kksj.k_

(vi) elk«sfo"k;d fu;kZr /kksj.k-



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4304]-204

M.A. (Part I) (Second Semester) EXAMINATION, 2013

ECONOMICS

EC-204 : Industrial Economics

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]

(1) What is Industrial Economics ? Explain the scope and importance

of Industrial Economics.

(2) Evaluate the role of MNCs in India.

2. Answer any one of the following questions in 500 words : [20]

(1) State the causes of Industrial Imbalance. Explain the measures

adopted by Government to eliminate Industrial Imbalance.

(2) Explain in detail the role of foreign capital in India’s economic

development.

3. Answer any two of the following questions in 250 words each : [20]

(1) Explain private sources of Industrial Finance.

(2) Explain the factors influencing location of industries.

P.T.O.
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(3) Explain the importance of productivity in the competitive en-

vironment.

(4) Explain the problems of small and cottage industries.

4. Write short notes on any four : [20]

(1) Nature of Industrial Productivity in India

(2) Causes of Industrial Monopoly

(3) Problems of Public Sector

(4) Difference between Mergers and Amalgamation

(5) Industrial Policy, 1977

(6) Euro Issues.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mRrjs usedh o eqÌslwn vlkohr-

(iv) lanHkkZlkBh ew« baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.krkgh ,dk izðukps mRrj 500 ðkCnkar f«gk % [20]

(1) vkS|ksfxd vFkZðkkL= Eg.kts dk; \ vkS|ksfxd vFkZðkkL=kph O;kIrh vkf.k egRo

Li"V djk-

(2) Hkkjrkrh« cgqjk"V™h; daiU;kaP;k Hkqfedsps eqY;ekiu djk-
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2. [kk«h«iSdh dks.kR;kgh ,dk izðukps mRrj 500 ðkCnkar f«gk % [20]

(1) vkS|ksfxd vlerks«kph dkj.ks lkaxk vkf.k vkS|ksfxd vlerks« deh dj.;klkBh

ljdkjus mi;ksxkr vk.k«s«s mik; Li"V djk-

(2) HkkjrkP;k vkfFkZd fodklkrh« ijdh; HkkaMo«kph Hkqfedk lfoLrj Li"V

djk-

3. [kk«h«iSdh dks.kR;kgh nksu izðukaph mRrjs izR;sdh 250 ðkCnkar f«gk % [20]

(1) vkS|ksfxd foRr&iqjoBÓkps [kktxh ekxZ Li"V djk-

(2) m|ksxkP;k LFkkfu;hdj.kkoj ifj.kke dj.kkjs ?kVd Li"V djk-

(3) Li/kkZRed okrkoj.kkrh« mRikndrsps egRo Li"V djk-

(4) «?kq o dqVhj m|ksxkP;k leL;k Li"V djk-

4. FkksMD;kr Vhik f«gk (dks.kR;kgh pkj) % [20]

(1) Hkkjrkrh« vkS|ksfxd mRikndrsps Lo:i

(2) vkS|ksfxd eDrsnkjhph dkj.ks

(3) lkoZtfud {ks=kP;k leL;k

(4) ,d=hdj.k o la;ksxhdj.k ;karh« Qjd

(5) 1977 ps vkS|ksfxd /kksj.k

(6) ;qjks laca/kh izokn-



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4304]-205

M.A. (Part I) (Second Semester) EXAMINATION, 2013

ECONOMICS

Paper 205 : Rural Development

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following in 500 words (any one) : [20]

(1) What is rural development ? Explain the scope and importance

of rural development.

(2) Explain the relation of agrarian reforms and irrigation with

rural development.

2. Answer the following in 500 words (any one) : [20]

(1) Comment on the causes of rural poverty in India. Explain the

measures adopted by government of India to alleviate it.

(2) Evaluate the achievements of Swarna Jayanti Gram Swarozgar

Yojana.

P.T.O.
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3. Answer in 250 words (any two) : [20]

(1) Evaluate the performance of tribal development programme.

(2) Explain the problems of rural industrialisation in India.

(3) Comment on the failures of green revolution in India.

(4) Explain the nature of employment opportunities in unorganised

sector.

4. Write short notes on (any four) : [20]

(1) Employment Guarantee Scheme

(2) MFAL

(3) Agricultural growth in India since 1991

(4) Problems of rural electrification

(5) Features of V.M. Dandekar’s approach to rural development

(6) Agrarian reforms.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mRrjs usedh vkf.k eqÌslwn vlkohr-

1. [kk«h«iSdh dks.krkgh ,dk izðukps mRrj 500 ðkCnkr f«gk % [20]

(1) xzkeh.k fodkl Eg.kts dk; \ xzkeh.k fodklkph O;kIrh vkf.k egRo Li"V

djk-

(2) œ"kh lq/kkj.kk o t«flapu ;kapk xzkeh.k fodklkcjkscj vl«s«k laca/k Li"V

djk-
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2. [kk«h«iSdh dks.krkgh ,dk izðukps mRrj 500 ðkCnkr f«gk % [20]

(1) Hkkjrkrh« xzkeh.k nkfjÊÓkP;k dkj.kkaoj Hkk"; djk- Hkkjr ljdkjus nkfjÊÓ fueqZ«uklkBh

mi;ksxkr vk.k«s«s mik; Li"V djk-

(2) Lo.kZ t;arh xzke Lojkstxkj ;kstusP;k Q«‹k`rhps eqY;ekiu djk-

3. [kk«h«iSdh dks.kR;kgh nksu izðukaph izR;sdh 250 ðkCnkr mRrjs f«gk % [20]

(1) vkfnoklh fodkl dk;ZÿekP;k dkefxjhps eqY;ekiu djk-

(2) Hkkjrkrh« xzkeh.k vkS|ksfxdj.kkP;k leL;k Li"V djk-

(3) Hkkjrkrh« gfjr ÿkarhP;k vi;ðkkoj Hkk"; djk-

(4) vla?kVhr {ks=krh« jkstxkjla/khps Lo:i Li"V djk-

4. [kk«h« Vhik FkksMD;kr f«gk (dks.kR;kgh pkj) % [20]

(1) jkstxkj geh ;kstuk

(2) ,e-,Q-,-,«- (MFAL)

(3) 1991 iklwu Hkkjrkrh« ðksrh fodkl

(4) xzkeh.k fo|qrhdj.kkP;k leL;k

(5) Ogh- ,e- nkaMsdj ;kaP;k xzkeh.k fodklkP;k n`"Vhdksukph oSfðk"VÓs

(6) œ"kh lq/kkj.kk-
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Total No. of Questions—4] [Total No. of Printed Pages—2

Seat

No. [4304]-206

M.A. (Part I) (Second Semester) EXAMINATION, 2013

ECONOMICS

(EC-206 : Computer Application in Economic Analysis)

(2008 PATTERN)

Time : 2½ Hours Maximum Marks : 60

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

1. Attempt any one of the following : [1×15=15]

(i) What is electronic trading ? Explain different steps of trade

cycle.

(ii) Explain B2B and B2C model with suitable example.

2. Attempt any one of the following (A or B) : [1×15=15]

(A) (i) Explain e-mail as an application of Internet. [8]

(ii) What is spreadsheet ? Explain the filtering of data with

suitable example. [7]
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Or

(B) (i) What is operating system ? Explain the features provided

by Windows XP. [8]

(ii) What is www ? Explain domain name with suitable

example. [7]

3. Attempt any three of the following : [3×5=15]

(i) What is electronic transaction ? What do you mean by

T + 2 delivery transaction ?

(ii) Explain the different types of computer.

(iii) What are the different techniques used for authentication ?

(iv) Explain with suitable example the difference between Data and

Information.

(v) What are the applications of G2B model ?

4. Attempt any three of the following : [3×5=15]

(i) What are the goals of Network ?

(ii) Explain any two applications in accessories group.

(iii) Explain the role of Internet in Research.

(iv) Explain the various components of a window.

(v) Explain the working of ATM.



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4304]-207

M.A. (Part I) (Second Semester) EXAMINATION, 2013

ECONOMICS

(EC-207 : Statistical Techniques)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Answers should be precise and to the point.

(iii) Use of non-programmable calculator is allowed.

(iv) Figures to the right indicate full marks.

1. Attempt only one out of two : [20]

(i) Price of Commodity Supply

Y X

5 90

28 409

10 120

09 155

20 372

15 153

12 130

26 452

18 250

12 199

Find the elasticity of supply at ( )X, Y  for the above data.
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(ii) Show that the following distribution is platykurtic. Find the

Kurtosis by any method known to you :

X F

10 5

11 10

12 20

13 30

14 20

15 10

16 05

2. Attempt any one out of two : [20]

(i) Five students attend a class and get respectively 42, 39, 48,

60, 41 marks, seven other students attending another class

get marks 38, 42, 56, 64, 68, 69 and 62. Is there any significant

difference between the classes ?

(ii) Fit an equation of the form Y = a + bX + cX2 to the data

given below :

X Y

1 25

2 28

3 33

4 39

5 46
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3. Attempt any two of the following : [20]

(i) Between the hours 2 p.m. and 4 p.m. the average numbers

of phone calls per minute coming into the switch board of

a company is 2.35. Find the probability that during one particular

minute there will be at most two phone calls.

(Given : e–2.35 = 0.095374)

(ii) From the following data calculate moments about assumed mean

25 and convert them into central moments :

X F

0—10 1

10—20 3

20—30 4

30—40 2

(iii) The number of scooter accidents per month in a certain town

were as follows :

12, 8, 20, 2, 14, 10, 15, 6, 9, 4

are these frequencies in agreement with the belief that accident

conditions were the same during this 10 months period ?
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(iv) Fit a binomial distribution :

x f

0 7

1 6

2 19

3 35

4 30

5 23

6 07

7 01

4. Attempt any four out of six of the following : [20]

(i) Discuss the weak points of various measures of central

tendancy.

(ii) Comment : Regression equations are irreversible.

(iii) What are the main features of Poisson distribution ?

(iv) Give the various applications of ‘t’ distributions in statistics.

(v) Discuss measures of dispersion, indicating their uses.

(vi) Explain the types of errors in hypothesis testing.



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4304]-208

M.A. (Part I) (Second Semester) EXAMINATION, 2013

ECONOMICS

(EC-208 : Community Development and Planning)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answer should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]

(1) Critically evaluate the role of state by means of public sector

in economic development with reference to planning in India.

(2) Explain population and social policy in Indian context.

2. Answer any one of the following questions in 500 words : [20]

(1) Critically examine the relationship between social investment

and economic growth.

(2) Explain the relationship between social development and

environmental change.
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3. Answer the following questions in 250 words each (any two) : [20]

(1) Write in brief any one theory of underdevelopment.

(2) Explain two case-studies of development from India.

(3) “Economic growth leads to redistribution of income and wealth.”

Discuss.

(4) Explain briefly the foundations of social theory.

4. Write short notes on (any four) : [20]

(1) Planning and aid

(2) Basic human needs

(3) Religious values and beliefs

(4) Asset vulnerability framework

(5) Forward and backward linkages in development

(6) Overseas development assistance and social planning.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh vkf.k eqÌslwn vlkohr-

1- [kk«h«iSdh dks.krkgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) Hkkjrkrh« fu;kstukP;k lanHkkZr lkoZtfud {ks=kps vkfFkZd fodklkrh« Hkwfedsps

VhdkRed ewY;ekiu djk-

(2) HkkjrkP;k lanHkkZr «ksdla[;k vkf.k lkekftd /kksj.k foðkn djk-
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2- [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) lkekftd xqaro.kwd vkf.k vkfFkZd fodkl ;keh/k« laca/kkps VhdkRed ijh{k.k

djk-

(2) lkekftd fodkl vkf.k i;kZoj.k cn« ;ke/kh« laca/k Li"V djk-

3- [kk«h«iSdh dks.kR;kgh nksu izðukaph izR;sdh 250 ðkCnkar mŸkjs f«gk % [20]

(1) U;wufodklkpk dks.krkgh ,d flºkar FkksMD;kr f«gk-

(2) HkkjrkP;k fodklklaca/kkrh« dks.krsgh nksu O;"Vh vH;kl Li"V djk-

(3) ^^vkfFkZd fodklkeq š mRiUu vkf.k laiŸkhph iqufoZHkkx.kh gksrs-** ppkZ djk-

(4) lkekftd flºkarkpk ik;k FkksMD;kr Li"V djk-

4- FkksMD;kr Vhik f«gk (dks.kR;kgh pkj) % [20]

(1) fu;kstu vkf.k lkgk∏;

(2) ew«Hkwr ekuoh xjtk

(3) /kkfeZd ewY;s vkf.k Jºk

(4) ek«eŸkk vfLFkjrk vkjk[kMk

(5) fodklkrhy iqjksuqca/ku vkf.k iðpkuqca/ku

(6) fonsðkh fodkl lkgk∏; vkf.k lkekftd /kksj.k-
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Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4304]-301

M.A. (Part II) (Third Semester) EXAMINATION, 2013

ECONOMICS

(EC-301 : Macro-Economic Analysis—I)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

(iv) Draw neat diagrams wherever necessary.

1. Answer any one of the following questions in 500 words : [20]

(1) State and explain the cash balance approach to demand for

money.

(2) State Keynesian psychological law of consumption. Explain the

implications of the psychological law of consumption.

2. Answer any one of the following questions in 500 words : [20]

(1) What is marginal efficiency of capital ? Explain factors affecting

marginal efficiency of capital.

(2) Explain with example the investment multiplier principle

developed by Keynes.
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3. Answer any two of the following questions in 250 words each : [20]

(1) Explain the circular flow of income in two sector economy.

(2) State and explain the components of balance of payment

accounting.

(3) State the determinants of high powered money.

(4) State RBI’s approach to money supply.

4. Write short notes on (any four) : [20]

(1) Relative income hypothesis

(2) Liquidity trap

(3) L.M. Curve

(4) Income-consumption relationship

(5) Money multiplier

(6) Flow of fund method.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh vkf.k eqÌslwn vlkohr-

(iv) vkoð;d R;k fBdk.kh lqcd vkœR;k dk<k-

1- [kk«h« izðukiSdh dks.kR;kgh ,dkps 500 ðkCnkar mŸkj f«gk % [20]

(1) iSðkkP;k ekx.khlaca/khpk jksdM fðkY«d flºkar lkaxk o Li"V djk-

(2) dsUlpk miHkksxklaca/kh ekulðkkL=h; fu;e lkaxk- ekulðkkL=h; fu;ekps lqfprkFkZ

Li"V djk-
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2- [kk«h« izðukiSdh dks.kR;kgh ,dkps 500 ðkCnkar mŸkj f«gk % [20]

(1) HkkaMo«kph flekar dk;Z{kerk Eg.kts dk; \ HkkaMo«kP;k flekar dk;Z{kersoj

ifj.kke dj.kkjs ?kVd Li"V djk-

(2) dsUl ;kauh fodflr ds«s«s xaqro.kwd xq.kdkps rRo lksnkgj.k Li"V djk-

3- [kk«h« izðukaph mŸkjs izR;sdh 250 ðkCnkar f«gk (dks.krsgh nksu) % [20]

(1) f}{ksf=; vFkZO;oLFksrsrh« mRiUukpk pÿkdkj izokg Li"V djk-

(2) O;ogkjrks« «s[kkadukps ?kVd lkaxk o Li"V djk-

(3) mPp ðkDrh iSðkkps fu/kkZjd ?kVd lkaxk-

(4) iSðkkP;k iqjoBÓk laca/kh fjt+oZ c°d vkWQ bafM;kpk n`"Vhdksu lkaxk-

4- FkksMD;kr Vhik f«gk (dks.kR;kgh pkj) % [20]

(1) lkis{k mRiUu x`fgrd

(2) jks[krspk lkiˇk

(3) ,«-,e- oÿ

(4) mRiUu&miHkksx laca/k

(5) iSlk xq.kd

(6) fu/kh izokg iºr-
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Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4304]-302

M.A. (Part II) (Third Semester) EXAMINATION, 2013

ECONOMICS

EC-302 : Economics of Growth

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

(iv) Draw neat diagrams wherever necessary.

1. Answer any one of the following questions in 500 words : [20]

(1) Capital, labour and technology are the prime factors which

affects the economic growth. Comment.

(2) State and explain the contribution of Malthus on Economic

Growth.

2. Answer any one of the following questions in 500 words : [20]

(1) Critically examine the role of Schumpeter in Economic

Growth.

(2) Explain the growth model of Solow and Meade.
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3. Answer the following questions in 250 words each (any two) : [20]

(1) State and explain the Hicks model of growth.

(2) Take the review of Ricardo’s contribution on Economic Growth.

(3) Explain the role of Education and Research in Economic

Growth.

(4) Explain, how the Cambridge criticised the neoclassical analysis

of growth ?

4. Write short notes in 100 words each (any four) : [20]

(1) Characteristics of Economic Growth

(2) J.S. Mill’s view on Economic Growth

(3) Learning by doing

(4) Theory of social change

(5) Total factor Productivity and Growth Accounting

(6) Money in Economic Growth.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr-

(iii) vkoð;d rsFks lqcd vkœR;k dk<k-

1- [kk«h«iSdh dks.krkgh ,d izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) HkkaMo«] Je vkf.k ra=Kku gs vkfFkZd o`ºhoj ifj.kke dj.kkjs izeq[k ?kVd

vkgsr- Hkk"; djk-

(2) ekYFkl ;kaps vkfFkZd o`ºhrh« ;ksxnku lkaxk o Li"V djk-
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2- [kk«h«iSdh dks.krkgh ,d izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) ðkaqihVj ;kaP;k vkfFkZd o`ºhrh« Hkqfedsps VhdkRed ifj{k.k djk-

(2) lks«ks vkf.k feM ;kaps o`ºh izfreku Li"V djk-

3- [kk«h« izðukaph mŸkjs izR;sdh 250 ðkCnkar f«gk (dks.krsgh nksu) % [20]

(1) fgDl ;kaps vkfFkZd o`ºhps izfreku lkaxk o Li"V djk-

(2) fjdkMksZ ;kapk vkfFkZd o`ºhrh« ;ksxnkukpk vk<kok ?;k-

(3) ^fðk{k.k* vkf.k ^laðkks/ku* ;kaph vkfFkZd o`ºhrh« Hkqfedk Li"V djk-

(4) uolukrukaP;k o`ºhP;k foð«s"k.kkoj dsafczt ;kauh dðkk Vhdk ds«sY;k vkgsr \

Li"V djk-

4- izR;sdh 100 ðkCnkar FkksMD;kr Vhik f«gk (dks.kR;kgh pkj) % [20]

(1) vkfFkZd o`ºhph oSfðk"VÓs

(2) ts-,l- fe« ;kaps vkfFkZd o`ºhckcr n`"Vhdks.k

(3) vuqHkokrwu fðk{k.k

(4) lkekftd cn«pk flºkar

(5) ,dw.k ?kVd mRikndrk vkf.k o`ºhps «s[kkadu

(6) vkfFkZd o`ºh vkf.k iSlk-



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4304]-303

M.A. (Part II) (Third Semester) EXAMINATION, 2013

ECONOMICS

EC 303 (A) : Research Methodology

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]

(i) What is meant by research report ? Explain the steps in research

report.

(ii) What is case study method ? Explain the advantages and limitations

of case study method.

2. Answer any one of the following questions in 500 words : [20]

(i) Define research. Explain the nature and utility of research

in social science.

(ii) Explain in detail various stages in research design.

P.T.O.
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3. Answer the following questions in 250 words each (any two) : [20]

(i) Explain the statistical methods used in research.

(ii) Discuss the importance of hypothesis in social science research.

(iii) What are the measures of central tendencies ?

(iv) Explain the advantages of observation technique.

4. Write short notes in 100 words each (any four) : [20]

(i) Use of information technology in research.

(ii) Types of correlation

(iii) Size of sample

(iv) Sources of secondary data collection

(v) Objectives of social research

(vi) Use of computer in data processing.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr-

(iv) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.krkgh ,d izðukpk 500 ðkCnkr mŸkjs f«gk %  [20]

(i) laðkks/ku vgok« Eg.kts dk; \ laðkks/ku vgok«krh« ik;Ú;k Li"V djk-

(ii) fofðk"BkH;kl iºrh Eg.kts dk; \ fofðk"BkH;kl iºrhps Qk;ns o e;kZnk

Li"V djk-
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2. [kk«h«iSdh dks.krkgh ,d izðukpk 500 ðkCnkr mŸkjs f«gk % [20]

(i) laðkks/kukph O;k[;k |k- lkekthd ðkkL=krh« laðkks/kukps Lo:i o mi;qDrrk

Li"V djk-

(ii) laðkks/ku vkjk[kMÓkrh« fofo/k VII;kaps lfoLrj Li"Vhdj.k djk-

3. [kk«h«iSdh dks.krsgh nksu izðukaph izR;sdh 250 ðkCnkr mŸkjs f«gk % [20]

(i) laðkks/kukr okijY;k tk.kkÚ;k lkaf[;dh; iºrh Li"V djk-

(ii) lkekftd ðkkL= laðkks/kukr x`fgrœR;kP;k egRokph ppkZ djk-

(iii) dsafÊ; izo`Ÿkhph ekstekids dks.krh \

(iv) fujh{k.k ra=kps Qk;ns Li"V djk-

4. [kk«h« fVik izR;sdh 100 ðkCnkr f«gk (dks.kR;kgh pkj) % [20]

(i) laðkks/kukrh« ekfgrh ra=Kkukps mi;ksx

(ii) lglaca/kkps izdkj

(iii) ueqU;kpk vkdkj

(iv) nq∏;e ekfgrh lad«ukps ekxZ

(v) lkekftd laðkks/kukph mÌh"VÓs

(vi) rF; izfÿ;kalkBh lax.kdkpk mi;ksx-



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4304]-304

M.A. (Part II) (Third Semester) EXAMINATION, 2013

ECONOMICS

EC : 303 (B) (Econometrics)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

(iv) Use of non-programmable calculator is allowed.

1. Answer any one of the following questions : [20]

(i) Fit the curve of the type y = a . bx to the following data

and estimate population for the year 2010 :

Year Population

(in millions)

2001 140

2002 170

2003 200

2004 250

2005 300
P.T.O.
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(ii) What is autocorrelation ? Explain the methods of

detection, consequences and remedial measures of

autocorrelation.

2. Answer any one of the following questions : [20]

(i) Obtain the reduced form equations for the following simultaneous

equations model :

1 10 12 2 11 1 1t t t ty y y x u= β + β + +

  

y y u
(ii) Explain the three single equation methods of estimation for

simultaneous equations model.

3. Answer any two of the following questions : [20]

(i) Define econometrics. Explain the scope and methodology of

econometric research.

(ii) State the consequences and remedial measures for

heteroscedasticity.

(iii) Explain the methods for detection of multicollinearity.

(iv) State and explain the features of probit model.
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4. Answer any four of the following questions : [20]

(i) What is the role of stochastic error term in the regression

analysis ? Explain.

(ii) Explain stationarity and non-stationarity of stochastic

processes.

(iii) Explain how dummy variable can be used as an alternative

to Chow-test.

(iv) State the distributions of Best Linear Unbiased Estimators (BLUE)

of the coefficients in the linear regression model 

xy = α + β

.

(v) What are structural equations and reduced form equation in

relation to simultaneous equations model.

(vi) Explain Box-Jenkins methodology for economic forecasting of

time series.



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4304]-305

M.A. (Part II) (Third Semester) EXAMINATION, 2013

ECONOMICS

(Optional Paper)

(EC-304 : Banking and Financial Institutions)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]

(1) State and explain the indicators of financial development.

(2) Explain the structure and performance of commercial banks

in India after 1991.

2. Answer any one of the following questions in 500 words : [20]

(1) Explain the nature and types of non-banking financial institutions

in India.

(2) Explain the functioning of foreign exchange market.

P.T.O.
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3. Answer the following questions in 250 words each (any

two) : [20]

(1) Explain the role of financial system in economic

development.

(2) Explain the role and performance of cooperative banks in

India.

(3) Explain the role and performance of General and Life Insurance

Company in India.

(4) Explain the functions of RBI.

4. Write short notes on (any four) : [20]

(1) Role of SBI

(2) Balance of Payments

(3) Functions of IFCI

(4) World Bank

(5) Euro currency markets

(6) Small savings and provident fund.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr-

1. [kk«h«iSdh dks.kR;kgh ,dk izðukps 500 ðkCnkr mŸkj f«gk %  [20]

(1) fofŸk; fodklkps funsZðkd lkaxk o Li"V djk-

(2) 1991 uarjps Hkkjrh; O;kikjh c°dkaph jpuk o dkefxjh Li"V djk-

2. [kk«h«iSdh dks.kR;kgh ,dk izðukps 500 ðkCnkr mŸkj f«gk % [20]

(1) Hkkjrkrhr fcxj c°fdax foŸk laLFkkaps Lo:i o izdkj Li"V djk-

(2) ijfd; fofue; cktkjkph dk;sZ Li"V djk-

3. [kk«h« izðukaph izR;sdh 250 ðkCnkr mŸkjs f«gk (dks.krsgh nksu) % [20]

(1) vkfFkZd fodklkr fofŸk; iºrhph Hkqfedk Li"V djk-

(2) Hkkjrkrh« lgdkjh c°dkaph Hkqfedk o dkefxjh Li"V djk-

(3) Hkkjrkrh« loZlk/kkj.k foek o vk;qfoZek egkeaMˇkph Hkqfedk o dkefxjh Li"V

djk-

(4) Hkkjrh; fjtoZ c°dsph dk;sZ Li"V djk-
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4. Vhik f«gk (dks.kR;kgh pkj) % [20]

(1) Hkkjrh; LVsV c°dsph Hkqfedk

(2) O;ogkjrks«

(3) Hkkjrh; vkS|ksfxd fofŸk; egkeaMˇkph dk;sZ

(4) tkxfrd c°d

(5) ;qjks p«u cktkj

(6) vYi cpr vkf.k Hkfo"; fuokZg fu/kh-



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4304]-306

M.A. (Part II) (Third Semester) EXAMINATION, 2013

ECONOMICS

EC : 305 (Welfare Economics)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]

(1) What is utility function ? Explain issues in interpersonal

comparisons of utility.

(2) What is Pareto optimality ? Explain briefly the conditions of

Pareto optimality.

2. Answer any one of the following questions in 500 words : [20]

(1) Explain the principle of compensating variation.

(2) Explain in detail Samuelson’s utility possibility curve.

P.T.O.
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3. Answer any two of the following questions in 250 words each : [20]

(1) Explain the cost-benefit analysis.

(2) Explain Bergson’s social welfare function.

(3) Explain Pigovian welfare economics.

(4) Explain the concept of community indifference map.

4. Write short notes on (any four) : [20]

(1) Problems of public goods

(2) Dynamic welfare analysis

(3) Top level optimum

(4) Marshallian welfare economics

(5) Issues in income distribution

(6) Arrow’s impossibility theorem.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr-

(iv) lanHkkZlkBh eqˇ baxzth izðuif=dk igkoh-
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1. dks.kR;kgh ,dk izðukps 500 ðkCnkr mŸkj f«gk %  [20]

(1) mi;ksfxrk Q«u Eg.kts dk; \ mi;ksfxrsP;k varO;ZDrh leL;k Li"V djk-

(2) ijsVksph b"Verk Eg.kts dk; \ ijsVksP;k b"VersP;k vVh FkksMD;kr Li"V djk-

2. dks.kR;kgh ,dk izðukps 500 ðkCnkr mŸkj f«gk % [20]

(1) HkjikbZ cn«ps rRo Li"V djk-

(2) lWE;qv«luP;k mi;ksfxrk ðkD;rk oÿ lfoLrj Li"V djk-

3. dks.kR;kgh nksu izðukaph izR;sdh 250 ðkCnkr mŸkj f«gk % [20]

(1) [kpZ&«kHk foð«s"k.k Li"V djk-

(2) cxZlups lkekftd dY;k.k Q«u Li"V djk-

(3) fixwps dY;k.kdkjh vFkZðkkL= Li"V djk-

(4) lkekftd leo`Ÿkh udkðkkph ladYiuk Li"V djk-

4. FkksMD;kr fVik f«gk (dks.kR;kgh pkj) % [20]

(1) lkoZtfud oLrwP;k leL;k

(2) xrhðkh« dY;k.kkps foð«s"k.k

(3) mPpre b"Verk

(4) ekðkZ«ps dY;k.kkps vFkZðkkL=

(5) mRiUu foHkktukrh« leL;k

(6) vWjkspk vðkD;rk flºkar-



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4304]-307

M.A. (Part II) (Third Semester) EXAMINATION, 2013

ECONOMICS

(EC-306 : Economics of Finance)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

1. Answer the following questions in 500 words (any one) : [20]

(i) Explain in detail the role of SEBI in stock market.

(ii) Define swaps. Explain the mechanics and types of swaps.

2. Answer the following questions in 500 words (any one) : [20]

(i) State and explain the mechanics of commodity future

market.

(ii) State and explain the characteristics and types of securities.

P.T.O.
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3. Answer the following questions in 250 words (any two) : [20]

(i) Explain the efficient market hypothesis

(ii) Explain the types of derivative

(iii) Explain the problems of stock market.

(iv) Explain the types of stock flow.

4. Write short notes on (any four) : [20]

(i) Options markets

(ii) Over the counter market

(iii) Stock indices

(iv) Government bonds

(v) Net present value

(vi) Fixed income securities.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh o eqÌslqn vlkohr-

1. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk %  [20]

(i) ðksvj cktkjkrh« lschph Hkqfedk lfoLrj Li"V djk-

(ii) vn«k cn« (swap) ph O;k[;k |k- vn«kcn«kph ;a=.kk o izdkj Li"V

djk-
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2. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(i) oLrq cktkj ;a=.kk lfoLrj Li"V djk-

(ii) izfrHkqrhaph oSfðk"Vs vkf.k izdkj lkaxk o Li"V djk-

3. [kk«h« izðukaph mŸkjs izR;sdh 250 ðkCnkar f«gk (dks.krsgh nksu) % [20]

(i) dk;Z{ke cktkj x`fgrds Li"V djk-

(ii) vuqtkrkaps (Derivative) izdkj Li"V djk-

(iii) ðksvj cktkjkrh« leL;k Li"V djk-

(iv) jks[ks izokgkps izdkj Li"V djk-

4. izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.kR;kgh pkj) % [20]

(i) fodYi cktkj

(ii) Rojhr fofue; cktkj

(iii) jks[ks funsZðkkad

(iv) ljdkjh jks[ks

(v) fuOoˇ orZeku eqY;

(vi) fLFkj mRiUu izfrHkqrh-



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4304]-308

M.A. (Part II) (Third Semester) EXAMINATION, 2013

ECONOMICS

(EC-307 : Economics of Environment)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answer should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]

(i) What is environment ? Explain the different types of

environment.

(ii) Explain the effects of macro-economic policy on environment.

2. Answer any one of the following questions in 500 words : [20]

(i) Explain the instruments for controlling water and air pollution.

(ii) Explain the difference between Human Capital and Physical

Capital.

P.T.O.
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3. Answer the following questions in 250 words each (any two) : [20]

(i) Explain the role of environmental education in controlling pollution.

(ii) Explain the benefits of social forestry.

(iii) Explain the effects of environment on human lives.

(iv) Explain the concept of sustainable development.

4. Write short notes on (any four) : [20]

(i) Environment and W.T.O.

(ii) Grass-root movement for environmental education

(iii) Noise pollution

(iv) Environmental laws

(v) Household production model

(vi) Exhaustible resources.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr

(iv) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk %  [20]

(i) i;kZoj.k Eg.kts dk; \ i;kZoj.kkps fofo/k izdkj Li"V djk-

(ii) i;kZoj.kkojh« lexz«{kh vkfFkZd /kksj.kkps ifj.kke Li"V djk-
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2. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkr f«gk % [20]

(i) t« iznw"k.k o gok iznw"k.k fu;a=.kkps lk/kus Li"V djk-

(ii) ekuoh HkkaMo« vkf.k HkkSfrd HkkaMo« ;krh« Qjd Li"V djk-

3. [kk«h« izðukaph izR;sdh 250 ðkCnkr mŸkjs f«gk (dks.krsgh nksu) % [20]

(i) iznw"k.kfu;a=.kkrh« i;kZoj.k fðk{k.kkph Hkwfedk Li"V djk-

(ii) lkekftd ofudj.kkps Qk;ns Li"V djk-

(iii) ekuoh thoukojh« i;kZoj.kkps ifj.kke Li"V djk-

(iv) ðkkðor fodklkph ladYiuk Li"V djk-

4. FkksMD;kr fVik f«gk (dks.kR;kgh pkj) [20]

(i) i;kZoj.k vkf.k tkxfrd O;kikj la?kVuk

(ii) i;kZoj.k fðk{k.kkdfjrk (rˇkxkˇkrhy)  pˇoˇ (Grass-root movement)

(iii) /ouhiznq"k.k

(iv) i;kZoj.kh; dk;ns

(v) dkSVqafcd mRiknu izfreku

(vi) ukðkiko.kkjh lalk/kus (Exhaustible Resources)-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4304]-401

M.A. (Part II) (Fourth Semester) EXAMINATION, 2013

ECONOMICS

EC-401 : Macro-Economic Analysis—II

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams wherever necessary.

1. Answer any one of the following questions (in 500 words) : [20]

(1) Compare and explain the Classical and Keynesian views on

Macro Economics.

(2) Explain the relative effectiveness of monetary policy and fiscal

policy with the help of ISLM Curve.

2. Answer any one of the following questions (in 500 words) : [20]

(1) Evaluate the Neoclassical and Keynesian views on interest.

(2) Explain the effect of wage price flexibility on ISLM model.

3. Answer the following (in 250 words each) (any two) : [20]

(1) Critically examine the Real Balance Effect.
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(2) Explain Baumol’s approach to demand for money.

(3) Explain Monetarist approach to inflation.

(4) Explain Samuelson’s theory of Business Cycle.

4. Write short notes on (any four) : [20]

(1) Post-Keynesian views on Macro-Economics

(2) ISLM model with government sector

(3) Revival of monetarism

(4) Tobin’s modified Philip’s curve

(5) Policies to control inflation

(6) Schumpeter’s theory of Business Cycle.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) vkoð;d R;k fBdk.kh lqcd vkœrh dk<k-

1- [kk«h«iSdh dks.kR;kgh ,dk izðukps 500 ðkCnkar mŸkj f«gk % [20]

(1) lexz vFkZðkkL=kP;k lanHkkZr lukruoknh o dsUl ;kaP;k n`f"Vdks.kkps rq«ukRed

Li"Vhdj.k djk-

(2) ISLM oÿkP;k lgk∏;kus p«ufo"k;d o jkT;dks"kh; /kksj.kkph lkis{k ifj.kke&

dkjdrk Li"V djk-
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2- [kk«h«iSdh dks.kR;kgh ,dk izðukps 500 ðkCnkar mŸkj f«gk % [20]

(1) O;ktnjk lanHkkZr uolukruoknh o dsUloknh n`f"Vdks.kkps ijh{k.k djk-

(2) osru fdaer ifjorZuðkh«rsps ISLM izfrekukojh« ifj.kke Li"V djk-

3- [kk«h«iSdh dks.krsgh nksu izðukaph izR;sdh 250 ðkCnkar mŸkjs f«gk % [20]

(1) okLro fðkY«d ifj.kkekps VhdkRed ijh{k.k djk-

(2) ckseks« ;kapk iSðkkP;k ekx.khpk n`f"Vdks.k Li"V djk-

(3) eqÊkok|kapk p«uok< laca/kh n`f"Vdks.k Li"V djk-

(4) lWE;wv«lu ;kapk O;kikjpÿ fo"k;d flºkar Li"V djk-

4- FkksMD;kr Vhik f«gk (dks.kR;kgh pkj) % [20]

(1) lexz&vFkZðkkL=klanHkkZr dsUluarjpk n`f"Vdks.k

(2) ðkkldh; {ks=k lanHkkZr ISLM izfreku

(3) p«uoknkps iqu#Tthou

(4) VkWfcu ;kapk lq/kkfjr fQf«Il oÿ

(5) p«uok< fu;a=.kkph /kksj.ks

(6) ðkqfEiVjpk O;kikj pÿ flºkar-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4304]-402

M.A. (Part II) (Fourth Semester) EXAMINATION, 2013

ECONOMICS

EC-402 : Economics of Development

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

1. Answer the following in 500 words (any one) : [20]

(1) Explain the theory of vicious circle of poverty by Nurksey.

(2) Explain the concepts of fiscal planning and monetary planning.

How do they become useful in development of economy.

2. Answer the following in 500 words (any one) : [20]

(1) Explain in detail the theory of critical minimum efforts.

(2) What is indivisibility ? How is the problem of indivisibility

solved ?

P.T.O.
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3. Answer the following in 250 words each (any two) : [20]

(1) Critically examine Fei-Ranis model.

(2) Explain in detail the concept of low income equilibrium

trap.

(3) Explain the importance of infrastructure development in developing

countries.

(4) Explain the role of multinational companies in developing

countries.

4. Write short notes on (any four) : [20]

(1) Technical skill and development

(2) Unlimited supply of labour

(3) Anti-inflationary measures

(4) Static gains from trade

(5) Social dualism

(6) Sustainable development.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr-

(iv) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh ,dk izðukps 500 ðkCnkr mŸkj f«gk %  [20]

(1) uDlsZpk nkfjÊÓkps nq"Vpÿ gk flºkUr Li"V djk-

(2) jkT;dks"kh; fu;kstu vkf.k p«uh fu;kstu ;k ladYiuk Li"V djk- vkfFkZd

fodklkdjrk ;k dðkk mi;ksxh Bjrkr \

2. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) fdeku dˇhpk flºkUr Li"V djk-

(2) vfoHkkT;rk Eg.kts dk; \ vfoHkkT;rsph gh vMp.k dðkh lksMo«h tkrs\

3. [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs f«gk (izR;sdh 250 ðkCnkr) % [20]

(1) QbZ jkuht ;kaP;k izfrekukps VhdkRed ijh{k.k djk-

(2) deh mRiUu lerks« lkiˇÓkph ladYiuk lfoLrj Li"V djk-

(3) ik;kHkwr lqfo/kkapk fodkl ;k ladYiusps egRo Li"V djk-

(4) fodluðkh« nsðkkae/ks cgqjk"V™h; daiU;kaph Hkwfedk Li"V djk-
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4. FkksMD;kr Vhik f«gk (dks.kR;kgh pkj) % [20]

(1) rkaf=d dqðk«rk vkf.k fodkl

(2) Jekpk ve;kZn iqjoBk

(3) p«uo`ºh fojks/kh mik;;kstuk

(4) O;kikjkrwu feˇ.kkjs #º «kHk

(5) lkekftd f}n«rkokn

(6) ðkkðor fodkl-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4304]-403

M.A. (Part II) (Fourth Semester) EXAMINATION, 2013

ECONOMICS

EC-403 : International Economics)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

(iv) Draw neat diagrams wherever necessary.

1. Answer any one of the following questions (in 500 words) : [20]

(1) Critically evaluate absolute and comparative cost advantage theory

of international trade.

(2) Discuss the changes in the direction and composition of India’s

foreign trade since 1991.

2. Answer any one of the following questions (in 500 words) : [20]

(1) Critically examine Heckscher-Ohlin theory of International

Trade.

(2) Evaluate the Purchasing Power Parity theory of rate of exchange.

3. Answer the following (in 250 words each) (any two) : [20]

(1) Explain Kravis theory of International Trade.
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(2) Explain the factors determining terms of trade.

(3) Explain merits and demerits of flexible exchange rate.

(4) Explain the impact of foreign investment on Indian Economy.

4. Write short notes on (any four) : [20]

(1) Leontief Paradox

(2) Linder’s theory of International Trade

(3) Fixed exchange rate

(4) Non-tariff barriers

(5) Components of balance of payments

(6) IMF.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh vkf.k eqÌslwn vlkohr-

(iv) vkoð;d rsFks lqcd vkœR;k dk<k-

1- [kk«h«iSdh dks.kR;kgh ,dk izðukps 500 ðkCnkar mŸkj f«gk % [20]

(1) vkarjjk"V™h; O;kikjkP;k fujis{k o rkS«fud ifjO;; «kHk flºkarkps VhdkRed

ijh{k.k djk-

(2) HkkjrkP;k ijdh; O;kikjkrh« 1991 uarjP;k fnðkkRed vkf.k lajpukRed cn«kaph

ppkZ djk-
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2- [kk«h«iSdh dks.kR;kgh ,dk izðukps 500 ðkCnkar mŸkj f«gk % [20]

(1) gsDðkpj&vksg«hu ;kaP;k vkarjjk"V™h; O;kikjkP;k flºkarkps VhdkRed ijh{k.k

djk-

(2) fofue; njkP;k [kjsnh ðkDrh lerk flºkarkps VhdkRed Li"Vhdj.k djk-

3- [kk«h«iSdh dks.kR;kgh nksu izðukaph izR;sdh 250 ðkCnkar mŸkjs f«gk % [20]

(1) ÿsfol ;kapk vkarjjk"V™h; O;kikjkpk flºkar Li"V djk-

(2) O;kikjðkrhZ fu/kkZfjr dj.kkjs ?kVd Li"V djk-

(3) cn«R;k fofue; njkps xq.k&nks"k Li"V djk-

(4) ijdh; xaqro.kwdhps Hkkjrh; vFkZO;oLFks ojh« ifj.kke Li"V djk-

4- FkksMD;kr Vhik f«gk (dks.kR;kgh pkj) % [20]

(1) f«vkWufVQpk fojks/kkHkkl

(2) f«aMjpk vkarjjk"V™h; O;kikjkpk flºkar

(3) fLFkj fofue; nj

(4) tdkrsrj vMFkˇs

(5) O;ogkjrks«kps ?kVd

(6) vkarjjk"V™h; uk.ksfu/kh-
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M.A. (Part II) (Fourth Semester) EXAMINATION, 2013

ECONOMICS

EC-405 : History of Modern Economic Analysis)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

(iv) Draw neat diagrams wherever necessary.

1. Answer the following questions in 500 words (any one) : [20]

(1) Describe the theory of value explained by John Hicks.

(2) Explain in detail the macro-economic theory meant by

Friedman.

2. Answer the following questions in 500 words (any one) : [20]

(1) Explain the views of Franco Modigliani on financial markets

and institutions.

(2) Explain the views of Meade James on International Economic

Policy.

3. Answer the following questions in 250 words each (any two) : [20]

(1) Explain the Modified Phillip’s Curve developed by Tobin.
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(2) Explain the general possibility theorem by Arrow.

(3) Why is Myrdal considered as the Adam Smith of poverty ?

Explain.

(4) Explain the views of Paul Samuelson on Theory of Value.

4. Write short notes on the following (any four) : [20]

(1) Game theory by Nash

(2) Portfolio theory

(3) Human Resource Development

(4) Revealed Preference

(5) Goodwin’s Model

(6) Classical approach to inflation.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh vkf.k eqÌslwn vlkohr-

(iv) vkoð;d rsFks lqcd vkœR;k dk<k-

(v) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1- [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) tkWu fgDlus lkafxr«s«k ewY;kpk flºkar Li"V djk-

(2) ›hMeuP;k vis{ksuqlkj lexz«{kh vFkZðkkL= Eg.kts dk; rs lfoLrj f«gk-

2- [kk«h«iSdh dks.krkgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) foŸkh; cktkj vkf.k laLFkkaP;k ckcrps ›°dks eksfMX«kuhps fopkj Li"V djk-

(2) vkarjjk"V™h; vkfFkZd /kksj.kkaP;k ckcrps ehM tsElps fopkj Li"V djk-
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3- [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 250 ðkCnkar f«gk % [20]

(1) Vksfcuus fodflr ds«s«k lq/kkfjr fQf«Il oÿ Li"V djk-

(2) vWjkspk loZlk/kkj.k ðkD;rk flºkUr Li"V djk-

(3) fejnk« ;kal xfjchpk vWMe fLeFk dk EgV«s tkrs rs Li"V djk-

(4) ikW« lWE;q«luph ewY; flºkUrkfo"k;hph ers Li"V djk-

4- FkksMD;kr Vhik f«gk (dks.kR;kgh pkj) % [20]

(1) uWðkpk [ksˇ flºkUr

(2) jks[kk laxzg.k flºkUr

(3) ekuo lalk/ku fodkl

(4) izdVh ilarh

(5) xqMfoups izfreku

(6) p«uok<hpk lukru n`"Vhdksu-
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